Bellwork  Alg2  Tuesday, October 1, 2019

State the domain restriction on such that the resulting inverse IS a function.
1. y=-4x*+2 2. y=2(x-1)>2
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3. Given flx) =3x-7 find 71(5)

4, Givenf(x)=%+6;x20

a) Write the equation of the inverse. Simplify if possible.

b) Find #1(10)

5. Given the following function: Ax) = 3x2+4,x > -1 is the inverse also a function?
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State the domain restriction on such that the resulting inverse 1S a function.
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4. Givenf(x)=i92-+6;x20

a) Write the equation of the inverse. Simplify if possible.
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b) Find f(10)
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5. Given the following function: f(x) = 3x2 +4,x > -1 is the jnverse also a function? »
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